& Paclasalai’s

weoo lelegram Groups!

( smeolIB@ H6p 2 eiten eIBens Hefld CFUIH Gupaled Rewewruiad! )

e Padasalai's NEWS - Group
https://t.me/joinchat/NIfCqVRBNj9hhV4wu6 NgA

e Padasalai's Channel - Group
https://t.me/padasalaichannel

e Lesson Plan - Group
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw

e 12th Standard - Group
https://t.me/Padasalai 12th

e 11th Standard - Group
https://t.me/Padasalai 11th

e 10th Standard - Group
https://t.me/Padasalai 10th

e 9th Standard - Group
https://t.me/Padasalai 9th

e 6th to 8th Standard - Group
https://t.me/Padasalai 6to8

e 1stto 5th Standard - Group
https://t.me/Padasalai 1to5

e TET -Group
https://t.me/Padasalai TET

e PGTRB - Group
https://t.me/Padasalai PGTRB

e TNPSC - Group
https://t.me/Padasalai TNPSC



https://t.me/joinchat/NIfCqVRBNj9hhV4wu6_NqA
https://t.me/padasalaichannel
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw
https://t.me/Padasalai_12th
https://t.me/Padasalai_11th
https://t.me/Padasalai_10th
https://t.me/Padasalai_9th
https://t.me/Padasalai_6to8
https://t.me/Padasalai_1to5
https://t.me/Padasalai_TET
https://t.me/Padasalai_PGTRB
https://t.me/Padasalai_TNPSC

www.Padasalai.Net www.TrbTnpsc.com

12" BM ONE MARKS BOOK BACK
Chapter 1
1.1f A=(1 2 3), then the rank of AAT is
a)o b) 2 c)3 d)1

2. The Rank of m X n matrix whose elements are unity is

a)o b) 1 c)m d)n
_A704 0.6\, - .. . S .
3T = B (0.2 0.8) is a transition probability matrix, then at equilibrium A is equal to
1 1 1 1

4.0fA = (g g), then p(4) is

a)o b) 1 c)2 d)n

1 1 1
5.The Rank of the matrix | 1 2 3 ]is
1 4 9

a)o b) 2 c)3 c)1

6. The rank of the unit matrix of orcer nis

ajn—1 b} on+1 i

7. If p(4) = r then whiich of ine followiiig is correci?

(a) all the minors of order r which does not vanish

(b) A has at least one minor of order r which does not vanish
(c) A has at least one (r+1) order minor which vanishes

(d) all (r+1) and higher order minors should not vanish

1
8.IfA = (2) then the rank of 447 is

3
a)o b) 2 c)3 d)1
A -1 0
9. If thye rank of the matrix| 0 A —=1]is2.ThenAis
-1 0 A
a)ol b) 2 c)3 d) only real number

10.The rank of the diagonal matrix -,

a)o b) 2 c)3 d)5
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_A/0.7 0.3\. - - . .
11T = B (0.6 x ) is a transition probability matrix,then the value of x is
a)0 .2 b) 0.3 c)0.4 d)0.7

12. which of the following is not an elementary transformation?

a)R; © R, b)R; > 2R; +2C; C)R; - 2R, — 4R; d) C; - C; + 5C;

13. If p(4) = p(4, B) then the system is

(a) Consistent and has infinitely many solutions
(b) Consistent and has a unique solution

(c) Consistent (d) inconsistent

14.1f p(A) = p(4,B) = the number of unknowns, then the system is

(a) Consistent and has infinitely many solutions
(b) Consistent and has a unique solution

(c) inconsistent (d) consistent

15. If p(A) # p(4A, B) then the system is

() Consistent and has infinitely many solutions
(2) Consistent ana has a tunique solution

() inconsisterit (d1) consistent

16. In a transitici prcoability raatrix, ati the enirics are greagier than i equal to
(a) 2 1 (0 (d)3

17. If the number of variables in a non- homogeneous system AX = B is n, then the
system possesses a unique solution only when

a) p(A) = p(4,B) >n b)a) p(4) = p(4,B) =n c) p(A) = p(A4,B) < nd)none of
these

18.The system of equations 4x + 6y = 5,6x + 9y = 7 has
a) a unique solution b) no solution  c) infinitely many solutions d) none of these
19. For the system of equations x + 2y + 3z =12x+y +3z=25x+5y+ 9z =4

a) there is only one solution  b) there exists infinitely many solutions
c) there is no solution d) None of these

20. If |A] # 0, then A'is

a) non-singular matrix  b) singular matrix c) zero matrix  d) none of these
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21.The system of equations x + y + z = 2,2x + y — z = 3,3x + 2y + k = 4 has unique solution, if
k is not equal to

a) 4 b) 0 c) -4 d)1

22. Cramer’s rule is applicable only to get an unique solution when

a)A,#0 b) A,# 0 C)A# 0 dAa,#0
a, b b, ¢ GG 4

BIUL+ 2=, 242y = "0 a= 0 A= |; then
3 x+y Cl’x+y €251 a, by|’"% |b, c,|’73 ey az'te
(x, y)is
a) (2,2) (22 o2 o(-2-2)

Ay’ Ay Ay’ Ay Ay’ As Ay’ Az
24.|A,xn| = 3 |ladjA| = 243then the value of n is
a) 4 b) 5 c) 6 d)7
25. Rank of the null matrix is
a) 0 b) -1 C) dy1

chapter-2

1 .

L [zdxis
- -1 -1 -2
a) 5 +c b) = +¢ ¢) sz +¢ d) S +c
2. [2XdX is
a) 2*log2 + ¢ b) 2* ) -‘Zx, +c d) logi 4 ¢
logz 2%

sin2x .
3. fmdx IS
a) sinx+c b) %sinx +c C) COS X+C d) %cosx +c

sin5x—sinx .
4 f—wssx dxis
(a) —cos2x + ¢ (b) cos2x + ¢ C)- icost +c d)) —4cos2x + ¢

5.0 29% d4x,x > 0 iis
X

1 2 _1 2 2 _2
a)z(logx) + b) —5 (logx)? ¢) Z+c¢ d -
e* .
6.fﬁdx IS
a)\/%+c b)2v1+e*+c c)vli+e*+c d)e*Vi+e*+c

7. [Ve*dxis
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1 1
a) Ve*+c b) 2vVe* + ¢ c);Ver+c d);=+¢

8.[ e?* [2x% + 2x]dx

X

a)e¥x? +c b) xe?* + ¢ c) 2x%e? + ¢ d) = Ze +C
e* .
9. [ dxis
a) log e§i1| +c b)log |%| +c c)logle*| + ¢ d) logle* +1|+c

9 1 .
10.f[m — — ] dxis

a)loglx — 3| —log|x + 1| + ¢ b) log|x — 3| + log|x + 1| + ¢
c) 9loglx — 3| —log|x + 1| + ¢ d) 9log|x — 3| — 3log|x + 1| + ¢

x3

2
4+x%

dx is

11. [

2x°
4+x*

+c

a)logl4 + x*| + ¢ b)%log|4+x4|+c c)%10g|4+x4|+c d)10g|

dx .
12.J.V§§E§§IS

aj Vi =36+ ¢ b)log|x + VxZ =35

+c o) loglx —Vx2 —36|+c d)log|x? +Vx% —36|+

a

2%+3 dx
Vx2+3x+7

ey

A)VXZ+3x+2+¢ D2ViZ+5x -2+ log{xé4-3x L) + ¢ d) % (x24+3x+

14. f01(2x + 1)dxis

a)1l b) 2 c)3 d) 4
ldx .

15. 05 1S

a)log4 b) O c) log2 d) log 8

16. fooo e % dxis
a) 0 b) 1 c)2 d)~
17. f_11x3e"4 dx is

a)1 b) 2 folxg‘e"lL dx ¢c)0 d)e*

18. If f(x) is continuous function and a < ¢ < b, then facf(x) dx + fcbf(x)dx is
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a) [, f(x) dx — [£ f(x)dx b) [ Gy dx — [P fdx o [ f()dx  d)o

T

19. The value of [%;cosx dx is
2

a)o b) 2 1 d) 4
20. [ {/x*(1 - x)? dx is
1 -7 7 -1

2L 0f [ f(x)dx = 1, [, xf(x) dx = aand [} x*f(x)dx = a® then [ (a — x)f (x) dx is
a) 4a? b) 0 c) 2a? d)1

22. The value of [ £(5 —x) dx — [’ f(x) dx is

a)l b) 0 c)-1 d)5

23.[; (Vx + )dx is

20 21 28

a) 2 b) = S d)g

24. [3tanx dx is
a)log? kj o c) log V2 d) 2log 2

25. Using the Tactoria! representation of the g2imma function, wiich of the fol owing is the solution
tor the gamma tunction 1’ (n) when n=8

a) 5040 b) 5400 c) 4500 d) 5540
26.T(n) is

a) (n — 1)! b) n! c)nr(n) d) (n — 1)r(n)
27.1 (1) is

a) 0 b) 1 cn d) n!

28.ifn > 0,thenI'(n)is

a) fole‘x x" Ldx b) fole‘xxndx c) fooo e* x dx d) foooe‘xx”‘ldx
29.7(3)
a) V7 b) %" ) 27 )
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30. fooo x*e *dx is

a) 12 b) 4 c) 4! d) 64

CHAPTER-3

1. Area bounded by the curve y = x(4 — x) between the limits 0 and 4 with x — axis
IS

a) 33—0561 units b) 32—lsq units c) 33—25q units d) %SSC[ units
2. Area bounded by the curve y = e~2* between the limits 0 < x < oo is

a) 1 sq units b) %sq units c) 5 sq units d) 2 sq units

3. Area bounded by the curve y = i between the limits 1 and 2 is
a) log 2 sq units b) log 5 sq units c)log 3 sq units d) log 4 sq units

X

4. If the marginal revenue function of a firm is MR = e 10, then revenue is
X X X X
a)—10e 10 b)l—e 10 c)10(1—e 10) d)e 10+ 10

5. If MR and MC denotes the marginial revenue and marginal cost functions, then the
profit functions is

a) P = [(MR - MC)dx + k by P = [(MR + MC)dx + I

)P = [(MR)Y(MC)dx + k d)?=f{(R—C)dx+k

6. The demand and supply functions are given by D(x) = 16 — x? and S(x) = 2x2 + 4
are under perfect competition, then the equilibrium price x is
(a) 2 (b)3 (c)4 (d)5

7. The marginal revenue and marginal cost functions of a company are
MR = 30 — 6x and MC = —24 + 3x where X is the product, then the profit function
IS

2
a) 9x2 + 54 b)9x? —54 ) 54x—9x?  d)54x—2-+k
8. The given demand and supply function are given by D(x) = 16 — x? and S(x) =
2x2 + 4 if they are under perfect competition then the equilibrium demand is

(a) 40 (b) = 0) 2 d) =
9. If the marginal revenue MR = 35 + 7x — 3x?, then the average revenue AR is
2 2
a)35x+7%—x3 b)a)35x+7%—x3
7x2 3 7x2 3
C)a)35x+7—x d)a)35x+7—x
10. The profit function P(x) is maximum when
a) MC — MR =0 b) MC=0 c) MR=0 d) MC+MR=0
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11. For the demand function p(x), the elasticity of demand with respect to price is

unity then

(a) revenue is constant (b) cost function is constant
(c) profit is constant (d) none of these

12. The demand function for the marginal function MR = 100 — 9x?2is

a) 100 — 3x? b) 100x — 3x? c) 100x —9x?  d) 100 + 9x?

13.When x. = 5 and p- = 3 the consumer’s surplus for the demand function
pg = 28 —x?%is
a) 250 units b) 232 units c) % units d) 2751 units
14. When x. = 2 and p. = 12 the producer’s surplus for the supply function
pd = sz + 4 |S
a) 35—1 units b)% units c) 33—2 units d) 37—0 units
15.Area bounded by y = x between the lines y = 1,y = 2 with y-axis is
1 . 5 . 3 . :
a) 5 5q units b) 5 Sq units c) 5 5q units d) 1 sq units
16. The producer’s surplus when the supply function for a commodityisp =3+ xand xo = 3 is
5 9 3 7
a)z b)E C)E d)z

17. 1he marginal cost function is MC = 100+/x. find AC given that TC =0 when the out put is zero is

1

200 1 200 3 200 2635
a)”, i b) =5~ x2 ) =3 d) =%
3.2 3x2

18. The demand and =upply function of a commodity are nf{x) == (x = 5)* ard S(x) = x? --x + 3
then the equilibrium quantity x. is

a)5 b) 2 )3 d) 19

10+x
4

19. The demand and supply function of a commodity are D(x) = 25 — 2x and S(x) = then the

equilibrium price p- is

a)5 b) 2 c)3 d) 10

20. If MR and MC denote the marginal revenue and marginal cost and MR — MC = 36x — 3x% — 81
Then the maximum profit at x is equal to

a)3 b) 6 c)9 d)5

21. If the marginal revenue of a firm is constant, then the demand function is

(@) MR (b) MC (c)C(x) (d) AC

22. For the demand function p,iff%p = kfi—xthen k is equal to
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-1 1
a) Na b) —n4 c) P d) p_
23. Area bounded by y = e* between the limits 0 and 1 is
a) (e — 1) sq units b) (e + 1) sq units c)(1- i) squnits d)(1+ é) sq units
24. The area bounded by the parabola y? = 4x bounded by its latus rectum is

a) 13—6 sq units b)g sq units c) 73—2 sq units d)§ sq units

25. Area bounded by y = |x| between the limits 0 and 2 is

a) 1 sq units b) 3 sq units c) 2 sq units d) 4 sq units
CHAPTER 4
- - ion LY _ @y Ay _
1.The degree of the differential equation — — (=3)" + = =3
(a)1 (b) 2 (c)3 (d)4
. . . d2y dy .
2.The arder and degree of the differential equation /E = ’E + 5 are respectively
(a)2and 3 {b)3ard 2 (cj2and1 (d)2and 2

2. 3
3. The order anci degree: of the differential equaticn (i—xi)i - 1]% — 4 == () are respectively
(a)2and 6 (b)3and 6 (c)1and4 (d)2and 4
. . . dx 3 1 .
4. The differential equation (E) +2y2=xis
(a) of order 2 and degree 1 (b) of order 1 and degree 3

(c) of order 1 and degree 6 (d) of order 1 and degree 2

5. The differential equation formed by eliminating a and b from y = ae®* + be™ is

2

d’y _ <y _dy _ &y _ 2 _x=
a)@— =0 b)dx2 dx—O c)—==0 d)x x=0

6.1fy = cx + ¢ — ¢3 then its differential equation is

— L, W Ay dyy3 dyv3 _ 4y _dy dy o 3 dy gy @y
a)y_xdx+dx (dx) b)y+(dx) _xdx dx C)dx+y_(dx) xdx d)dx3_0

7. The integrating factor of the differential equation Z—; +px=Qis

a) e/ Pdx b) e/ Pdx o) [ pdy d) elpay

8. The complementary function of (D? + 4)y = e** is

Send Your Questions and Answers to Our Email Id - padasalai.net@gmail.com


https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

a) (Ax + B)e?* b) (Ax + B)e™%* ) Acos2x + Bsin2x d) Ae™%* + Be?*

9. The differential equation of y = mx + c is (m and c are arbitrary constants)

2
a)%zo b)y:x%‘FC c)xdy +ydx =0 d)ydx —xdy =0
2
10. The particular integral of the differential equation is % -8 % + 16y = 2e¥
2 4x 4x
A b ¢) x2e d) xe™

11. Solution on—;i +Px =0

a)x = cePY b) x = ce PV cx=py+c dx=cy
12. If sec?x is an integrating factor of the differential equation Z—i/ + py = Q then P=
(a) 2 tanx (b) sec x (c) cos?x (d)tan?x

13. The integrating factor of x% —y=x%is

a)— b)

X

L

c)logx d)x
d
14. The solution of the differential equation a_z + py = Q where P and Q are function of x is

ajy=J ¢ elP¥dx ¢ b)y=[Q ¢ IP¥ gy 4 ¢
clyel P = [ ¢ eJPdx + ¢ d)ye/ P = [ 9 e Iraxgx 4 ¢

i5. The differeniiai equaiion forined by elirninating A and 5 trom y — e ™2 (Acusx + Bsinx)
a)y, —4y;,+5=0 b))y, +4y;—5=0 Ay, —4y;—5=0 d)y, +4y;+5=0

16. The particular integral of the differential equation f(D)y = e®* where f(D) = (D — a)?

2
a)x?eax b) xe®* c)geax d) x%e®*

17. The differential equation of x? + y? = a?

a)xdy+ydx =0 b)ydx—xdy=0 c)xdx—ydx =0 d)xdx+ydy=20
. d’y  dy .

18. The complementary function of 2L 0is

a)A + Be* b) (A+ B)e* c) (Ax + B)e* d) Ae* + B

19.The P.l. of (3D% + D — 14)y = 13e** is

a) JZ_Cer b) xe?* c) x;ezx d) 13xe?*

20. The general solution of the differential equation % = Ccosx is
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(@ y=sinx+1 b) y =sinx — 2
c)y =cosx + ¢, cis arbitrary constant d) y =sinx + ¢, c is arbitrary constant

21. A homogeneous differential equation of the form Z—; =f (%) can be solved by making

substitution,
(a)y=vx (b)v=yx (c)x=vy (d)x=v

22. A homogeneous differential equation of the form Z—; =f (g) can be solved by making

substitution,

(Q)x=vy (b)y=vx (c)y=v (d)x=v
23. The variable separable form of% = % by taking y = vx and % =v+ x% is
2 2 2

A dv=2 gy =-& O=dv=""  d)Fdv=-=
24. Which of the following is the homogeneous differential equation?
a) (3x — 5)dx = (4y — 1)dy b) xydx — (x® + y3)dy =0
c)y?dx = (x* —xy —y*)dy =0 d) (x* + y)dx = (y* + x)dy
25. The solution <f the differential equation ay _ ¥ + f(%) is

. ( crin 2naal eq Ydx % f/(%) 1

\ / \ [N [ ) 3 1 J—
i@z w0r@)=k  ar=k o wr)=-k
chaoter-5

1.A2y0 =
a)y2 — 2y1 + Yo b)y2+2y1—yo Sy2+2y1+y, d)y2+yi+2y
2.Af(x) =

a)f(x+h) b)f(x)—-flx+h) Afx+h)—f(x) d)f(x)-fx—h)
3.E=

a)l+A b)a)1—A c)a)1+V d)a)1-V

4. 1f h=1,then A(x?) =

a) 2x b) 2x-1 c) 2x+1 d)1

5. If cis a constant then Ac =

a)c b) A c) A? d) 0

6. If m and n are positive integers then A™A™ f(x) =
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a) AT (x) b) A™f (x) c) A"f (x) d) A" (x)

7.1f ‘n’ is a positive integer A" A" (x)]

a) f(2x) b) f(x +h) o) f(x) d)Af(x)

8.Ef(x) =

a)f(x—h) b)f(x) of(x+h) df(x+2h)

9.V=

al+E b1-E  ¢1-E! d1+E™1

10.Vf(a) =

a)f(a)+f(a—h) b)f(a)—f(a+h) of(@—fla=h) d)f(a)

11. For the given points (x., y.)and (x4, y;) the Lagrange’s formula is

_x—Xxg X—Xo XX X=X
Ay() =—"y+ —> 0 b)y(x) =yt — 20
_ X—Xg X—Xo X1 X—Xo
)y = —"y1+ Yo d)y() ==y + Yo
12. Lagrange’s interpolation formula can be used for
(a) equal in*ervals onlv (b) unzqual intervs!s only
(¢) voth equal and unacuaiintervals (cI) ncne of these.

13.If f(x) = x? + 2 4- 2 and the interval of differencing is unity then Af (x)
a) 2x-3 b) 2x+3 c) x+3 d) x-3

14. For the given data find the value of A3y, is

5 6 9 11
y 12 13 15 18
a) 1 b)o c)2 d)-1
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ANSWERS
Chapter 1
1 2 3 4 5 6 7 8 9 10
d b a c d b b d a C
11 12 13 14 15 16 17 18 19 20
C b C b c C b b a anotb
21 22 23 24 25
b C d c a
Chapter 2
1 3 4 5 6 7 8 9 10
b a a a b b a d c
11 12 13 14 15 16 17 18 19 20
b b b b c d C c b a
21 22 23 24 25 26 27 28 29 30
b b C a a a b d b C
Chapter 3
1 2 3 4 5 6 7 8 9 10
C b a c a a d c b a_ |
| 1 12 13 14 15 16 17 18 | 19 2
| @ @ 5 _c | ¢ o a b 3 c_ |
21 | 22 [ 23 | 20 | 25 |
e o s b < e
Chaptei 4
1 2 3 4 5 6 7 8 9 10
a cnotd a b a a d c a c
11 12 13 14 15 16 17 18 19 20
b a b c d a d a b d
21 22 23 24 25
a a d c a
Chapter 5
1 5 10
a c a c d a c c c c
11 12 13 14
a c b b
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https://bit.ly/2OJ2svj
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https://bit.ly/2PuK0a1
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12th — Monthly Test - Q&A

12th Free Online Test (TM)
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https://www.padasalai.net/2020/02/12th-Standard-Book-Back-Creative-One-Mark-Questions-Free-Online-Tests-English-Medium.html
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https://www.padasalai.net/2020/02/12th-Standard-Book-Back-Creative-One-Mark-Questions-Free-Online-Tests-English-Medium.html
https://www.padasalai.net/2020/02/12th-Standard-Book-Back-Creative-One-Mark-Questions-Free-Online-Tests-Tamil-Medium.html
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https://www.padasalai.net/2020/02/12th-Standard-Book-Back-Creative-One-Mark-Questions-Free-Online-Tests-English-Medium.html
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12th Join Telegram Group
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